Lesson Summary

In a probability experiment where the outcomes are not known to be equally likely, the formula for the probability of
an event does not necessarily applv:

Number of outcomes in the event
Plevent) = — 3
Number of outcomes in the sample space

For example:

To find the probability that the score is greater than , add the probabilities of all the scores that are greater than .
To find the probability of not getting a score of | calculate .

Problem Set

1. The Gator Girls are a soccer team. The possible number of goals the Gator Girls will score in a game and their probabilities are
shown in the table below.
Number of
0 1 2 3 4
Goals

Probability 0.22| 0.31] 0.33| 0.11f 0.03

Find the probability that the Gator Girls:
a. Score more than two goals.
b. Score at least two goals.

C. Do not score exactly 3 goals.

2. The diagram below shows a spinner. The pointer is spun, and the player is awarded a prize according to the color on which the
pointer stops.

'<7 Pointer
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d. What s the probability that the pointer stops in the red region?



e. Complete the table below showing the probabilities of the three possible results.

Color Red Green Blue

Probability

f.  Find the probability that the pointer stops on green or blue.

g. Find the probability that the pointer does not stop on green.

3. Wayne asked every student in his class how many siblings (brothers and sisters) they had. Survey results are shown in the table
below. (Wayne included himself in the results.)

Number of Siblings 011 213 | 4

Number of Students | 4 | 5 14| 6 3

(Note: The table tells us that 4 students had no siblings, 5 students had one sibling, 14 students had two siblings, and so on.)

h. How many students are there in Wayne’s class, including Wayne?

i.  What is the probability that a randomly selected student does not have any siblings? Write your answer as a fraction in
lowest terms.

j.  The table below shows the possible number of siblings and the probabilities of each number. Complete the table by writing
the probabilities as fractions in lowest terms.

Number of Siblings 0 1 2 3 4

Probability

k.  Writing your answers as fractions in lowest terms, find the probability that the student

i.  Has fewer than two siblings.

ii. Hastwo or fewer siblings.

ili. Does not have exactly one sibling.



